b)

d)

b)

c)

d)

2C,H,, + 130, = 8CO, + 10H,0
2.46 g
246 g H,0x ~MHO 1 ol H,0
. X T - _ = LU m
&Y R 9802 ¢ H,0 ot
246 g H,0x L0 2molCHy s ol Ll
. = u. mo
&P X 1802¢ H,0 * 10 mol H,0 40
1 mol H,O 2molC,H, 358.14gC,H,,
246 g H,0 x X = 1.59gC,H,,
18.02¢gH,0 10 mol H,O I mol C,H,,
46 ol LMOIHO  13mol0, 320080, _ .
. X X X = J.
&Y 1802 H,0 © 10mol H,0 &= 1 mol O, LR
cC,H,O + 30, =» 2CO, + 3H,0
25 mol C,H,0 x —— 1, 75 mol O
m X = m
* 25eY % ol C,H,0 o
30 mol 0, x L EHO e om0
MO X T mo10,  © M e
30 mol 0, x 21LC0: _ 54 1ol O,
3 mol O,
23mol CO, x =D 35 010
m X — ¥ ___ = D 1IN
O X 5 mol CO, o
41 mol H,0 x =219 _ 41 o1 0
MO X T olH,0 ~ T MO
2 mol CO,
41 mol H,O X ——————— = 27.3 mol CO,

3 mol H,O



3. Fe,0,(s) + 3H,(g) = 2Fe(s) + 3H,0(1)

a) 2 mol Fe
25 mol Fe, O, x m = 50 mol Fe
7 omolFex 2O s
e S molFe — O MO
<) 1 mol Fe,O, 159.7 g Fe,0,
120 mol H,O x = 6388 g Fe,0,

3mol H,0 1 molFe,0,

4. N,H, + 7H,0, = 2HNO, + 8H,0
a) 7 mol H,0,

2.68 mol N,H, x m = 18.76 mol H,0,
2 egmolN,H, x 2MOHNOL s HNO

68 mol N, H, x ==~ N, mo ;

<) 8 mol H,0

2.68 mol N,H, x m = 21.44 mol H,O
5.  WO,(s) + 3H,(g) ==> W(s) + 3H,0(1)

250 g ? g ? g

) 250 « WO 1 mol WO, 1 mol W 183.84 g W 198 « W
a X X X =
EWS X 93184 WO, T Tmol WO, = 1mol W &

b) 1 mol WO, 3molH, 202gH,

250 g WO, x = 653 ¢gH,

231.84 g WO, © 1 mol WO, = 1 molH,



